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AWES PRT SET E

Topic:‐ PRT Set E 1 Passage

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilization altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting all international disputes in a peaceful way.

Q) In the earliest days, wars were fought with:‐

[Question ID = 5177]
1. Bombs and nuclear weapons

[Option ID = 20706]
2. Bows and arrows, swords and spears

[Option ID = 20707]
3. Swords and spears made of metals

[Option ID = 20708]
4. Guns and cannons

[Option ID = 20709]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilizaion altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting all international disputes in a peaceful way.

Q) In older days wars were means to show:‐

[Question ID = 5178]
1. Miseries of destruction
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[Option ID = 20710]
2. Personal heroism and physical power

[Option ID = 20711]
3. Material resourses and power of science

[Option ID = 20712]
4. Civil and military population

[Option ID = 20713]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought wth bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden atacks, as in the last World War. In fact, development of nuclear weapons threatens
to wipe out civilizaion altogether. The horrors of a modern war continue even after peace has been concluded. Bombs
infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after the
first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction, and
the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA had to
come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a modern
war is that it does not remain confined to a few countries. Almost every country is compelled by force of circumstances to
take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human civilisation is doomed to
utter ruin. The United Nations Organizations has been formed with this object in view. And it is the duty of every country
to strenthen it and help it in setting all international disputes in a peaceful way.

Q) Development of nuclear weapons has provided:‐

[Question ID = 5179]
1. A platform to create innovations in warfare

[Option ID = 20714]
2. A mean for annihilation of entire civilization

[Option ID = 20715]
3. A path to weaken a civilization

[Option ID = 20716]
4. A degradation in economic life

[Option ID = 20717]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows and arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilization altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting all international disputes in a peaceful way.

Q) How does a modern war turn into a global war?

[Question ID = 5180]
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1. Compelling other countries to take sides

[Option ID = 20718]
2. By voluntary participation of other countries

[Option ID = 20719]
3. By means of friendly feelings of one against other country

[Option ID = 20720]
4. By interfering to cease further destruction

[Option ID = 20721]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilization altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting all international disputes in a peaceful way.

Q) What has UNO been formed for?

[Question ID = 5181]
1. To provoke further involvement in war

[Option ID = 20722]
2. To ban countries waging war against other

[Option ID = 20723]
3. To provide funds for reconstruction of enemy countries

[Option ID = 20724]
4. To strengthen bilateral ties between countries and settle international disputes to restore peace

[Option ID = 20725]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilization altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting all international disputes in a peaceful way.

Q) What is the most appropriate expression closer to the meaning of the word 'miseries' used in the passage?
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[Question ID = 5182]
1. Bad conditions

[Option ID = 20726]
2. Extreme sufferings

[Option ID = 20727]
3. Helpless situations

[Option ID = 20728]
4. Critical Period

[Option ID = 20729]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horrible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act ofs triking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made between civil and military populations. So noscruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilizaion altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore, wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting all international disputes in a peaceful way.

Q) Select from the list below the noun form of 'cowardly'.

[Question ID = 5183]
1. Coward

[Option ID = 20730]
2. Crooked

[Option ID = 20731]
3. Cowardice

[Option ID = 20732]
4. Cowardly

[Option ID = 20733]

Read the following passage and answer the questions given below:‐

It is said that man is a fighting animal. This is why there have been frequent fights between man and man from the earliest
times‐‐fights between individuals,tribes, races and nations. In fact, the political history of mankind consists mostly of
accounts of these conflicts and wars. At first wars were fought with bows and arrows, swords and spears and horses. Then
came guns and canons and motor vehicles to carry them and the soldiers. Now we have aeroplanes to drop bombs for quick
results. It will be seen that changes in method have made wars more and more horible. At first they were tests of personal
heroism and physical power. But they have now become tests of material resources and the power of applying science to
wholesale destruction. When armies fought with bows ad arrows, and swords and spears, there was a spirit of chivalry in
them. But victory in modern wars depends on the cowardly act of striking the enemy unaware and unprepared. Moreover,
as they are total wars, no distinction is made beween civil and military populations. So no scruple is felt in bombing even
whole cities out of existence by sudden attacks, as in the last World War. In fact, development of nuclear weapons
threatens to wipe out civilizaion altogether. The horrors of a modern war continue even after peace has been concluded.
Bombs infect the survivors with poisons of various incurable diseases. We still see these horrors in Japan so many years after
the first atom bombs were dropped there. The economic life also of the countries concerned is shattered by destruction,
and the miseries of the people know no bounds. Indeed, the situation in Europe was so critical after the last war that USA
had to come forward with generous helps for the reconstruction of even enemy countries. Another dangerous feature of a
modern war is that it does not remain confined to a few countries. Almost every country is compelled by force of
circumstances to take sides, so that the war soon turns into global war. Unless, threfore , wars are banned, human
civilisation is doomed to utter ruin. The United Nations Organizations has been formed with this object in view. And it is the
duty of every country to strenthen it and help it in setting al international disputes in a peaceful way.

Q) "It will be seen that changes in method have made wars more and more horrible". The word 'horrible' is used in the
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sense:‐

[Question ID = 5184]
1. Troublesome

[Option ID = 20734]
2. Painful

[Option ID = 20735]
3. Worthless

[Option ID = 20736]
4. Devastating

[Option ID = 20737]

Topic:‐ PRT Set E 2 Others

Choose the correct antonym for the underlined word:‐ 

The teacher decided to alleviate the root of distraction for students in classroom situation.

[Question ID = 5186]
1. Mitigate

[Option ID = 20742]
2. Praise

[Option ID = 20743]
3. Lessen

[Option ID = 20744]
4. Augment

[Option ID = 20745]

Choose the correct synonym of the underlined word:‐

As I look around I see the crumbling ruins of a proud civilization strewn like a vast heap of futility.

[Question ID = 5187]
1. Irrelevance

[Option ID = 20746]
2. Absurdity

[Option ID = 20747]
3. Pointlessness

[Option ID = 20748]
4. Downtrodden

[Option ID = 20749]

Choose from the given alternatives what the given expression suggests:‐

annus mirabilis

[Question ID = 5188]
1. A wonderland

[Option ID = 20750]
2. A bosom friend

[Option ID = 20751]
3. Full freedom of action

[Option ID = 20752]
4. A wonderful year in which great events take place

[Option ID = 20753]

Choose the one word substitution for the given description:

The study of speech sounds and the production, transmission and reception:‐

[Question ID = 5189]
1. Philology

[Option ID = 20754]
2. Linguistics
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[Option ID = 20755]
3. Phonetics

[Option ID = 20756]
4. Rhetoric

[Option ID = 20757]

Choose the apprpriate preposition from the given alternatives:‐

Mr Sreyas lives adjacent _______ the children's park in Hooghly.

[Question ID = 5190]
1. To

[Option ID = 20758]
2. beside

[Option ID = 20759]
3. behind

[Option ID = 20760]
4. From

[Option ID = 20761]

Select the correctly spelled word:‐ 
[Question ID = 5191]

1. Necessary [Option ID = 20762]
2. Neccessary [Option ID = 20763]
3. Nesessary [Option ID = 20764]
4. Nessesary [Option ID = 20765]

Select the most appropriate alternative for the given idiom underlined:‐

Careless students often have to cry over spilt milk during the exams.

[Question ID = 5192]
1. Sit helplessly with tearful eyes

[Option ID = 20766]
2. Invest more and more time

[Option ID = 20767]
3. Repent over the loss

[Option ID = 20768]
4. Think wisely and act

[Option ID = 20769]

Identify the figure of speech employed in the following sentence:‐

Silence is sometimes more eloquent than speech.

[Question ID = 5193]
1. Personification

[Option ID = 20770]
2. Bathos

[Option ID = 20771]
3. Oxymoron

[Option ID = 20772]
4. Antithesis

[Option ID = 20773]

Choose the correct form of passive voice from the given alternatives:

Kailash Satyarthi of India and Malala Yousafzai from Pakistan received the noble peace prize for 2014.
[Question ID = 5194]

1. Kailash Satyathi of India and Malala Yousafzai from Pakistan was received the noble peace prize for 2014 [Option ID = 20774]
2. Kailash Satyathi of India and Malala Yousafzai from Pakistan were received the noble peace prize for 2014 [Option ID = 20775]
3. The noble prize for 2014 had been received by Kailash Satyarthi of India and Malala Yousafzai from Pakistan [Option ID = 20776]
4. The noble peace prize for 2014 was received by Kailash Satyarthi of India and Malala Yousafzai from Pakistan [Option ID = 20777]

Fill in the blank with appropriate Phrasal verbs:‐
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The tiger is carnivorous and ___________ flesh.

[Question ID = 5195]
1. Lives by

[Option ID = 20778]
2. Lives on

[Option ID = 20779]
3. Lives off

[Option ID = 20780]
4. Lives up

[Option ID = 20781]

Identify the correct Indirect speech:‐ 

I said to him, “When will you do it”?
[Question ID = 5196]

1. I asked him when she would do it. [Option ID = 20782]
2. I asked him when he would do it. [Option ID = 20783]
3. I asked when he would do it. [Option ID = 20784]
4. I asked him when would he do it. [Option ID = 20785]

Identify the error in the sentence given below, if any:‐

The director as well as the dancers(A) were honoured(B) by the public(C). No Error(D)

[Question ID = 5197]
1. OPTION A

[Option ID = 20786]
2. OPTION B

[Option ID = 20787]
3. OPTION C

[Option ID = 20788]
4. OPTION D

[Option ID = 20789]

If "+" means "–", "–" means "x", "x" means "÷" and "÷" means "+", then 25 x 5 ÷ 30 + 8 – 2 =?

[Question ID = 5198]
1. 54

[Option ID = 20790]
2. 15

[Option ID = 20791]
3. 18

[Option ID = 20792]
4. 19

[Option ID = 20793]

If "SEQUENCE" is coded as "HVJFVMXV", then how will "CHILDREN" be coded in the same code?
[Question ID = 5199]

1. MVIWORSX [Option ID = 20794]
2. XSRMWIVM [Option ID = 20795]
3. XSROWIVM [Option ID = 20796]
4. DSROWIUN [Option ID = 20797]

Choose the correct alternative from the given ones that will complete the series:‐

5, 11, 21, 43, 85, ?

[Question ID = 5200]
1. 185

[Option ID = 20798]
2. 170

[Option ID = 20799]
3. 171

[Option ID = 20800]
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4. 181

[Option ID = 20801]

Mrs Lata was 3 times as old as her son 8 years ago. Their total age is 64 years now. How old (in years) is Mrs Lata now?
[Question ID = 5201]

1. 48 [Option ID = 20802]
2. 12 [Option ID = 20803]
3. 36 [Option ID = 20804]
4. 44 [Option ID = 20805]

If "GIVE" is coded as "5137" and "BAT" is coded as "924", how will "GATE" be coded in the same code?
[Question ID = 5202]

1. 2547 [Option ID = 20806]
2. 5247 [Option ID = 20807]
3. 5427 [Option ID = 20808]
4. 5724 [Option ID = 20809]

A shopkeeper buys an article for Rs 360. He wants to make a profit of 25% on it after a discount of 10%. The Marked
Price is:‐

[Question ID = 5203]
1. Rs. 486

[Option ID = 20810]
2. Rs. 450

[Option ID = 20811]
3. Rs. 500

[Option ID = 20812]
4. Rs. 460

[Option ID = 20813]

Three cubes of sides 6 cm, 8 cm and 1 cm are melted to form a new cube. The surface area of the new cube is:‐
[Question ID = 5204]

1. 486 sq cm [Option ID = 20814]
2. 496 sq cm [Option ID = 20815]
3. 586 sq cm [Option ID = 20816]
4. 658 sq cm [Option ID = 20817]

If A : B = 1 : 3, B : C = 5 : 7, C : D = 9 : 7, then A : B : C : D =?

[Question ID = 5205]
1. 15 : 45 : 63 : 49

[Option ID = 20818]
2. 15 : 49 : 45 : 63

[Option ID = 20819]
3. 45 : 15 : 63 : 49

[Option ID = 20820]
4. 49 : 15 : 45 : 63

[Option ID = 20821]

Manish travelled from a point and straight to Y at a distance of 90 m. He turned right and walked 40 m, then again
turned right and walked 70 m. Finally, he turned right and walked 40 m. How far he is from the starting point?
[Question ID = 5206]

1. 70 m [Option ID = 20822]
2. 10 m [Option ID = 20823]
3. 20 m [Option ID = 20824]
4. 30 m [Option ID = 20825]

The sum of the greatest 4‐digit number and the smallest 3‐digit number is:‐
[Question ID = 5207]

1. 7000 [Option ID = 20826]
2. 9899 [Option ID = 20827]
3. 10099 [Option ID = 20828]
4. 10999 [Option ID = 20829]

Find the odd letters from given alternatives:‐
[Question ID = 5208]

1. PQXZ [Option ID = 20830]
2. BCQN [Option ID = 20831]
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3. ABDF [Option ID = 20832]
4. MNPR [Option ID = 20833]

Influenza : Virus :: Typhoid : ?

[Question ID = 5209]
1. Bacillus

[Option ID = 20834]
2. Parasite

[Option ID = 20835]
3. Protozoa

[Option ID = 20836]
4. Bacteria

[Option ID = 20837]

The sum of one‐half, one‐third and one‐fourth of a number exceeds the number by 12. The number is:‐
[Question ID = 5210]

1. 144 [Option ID = 20838]
2. 154 [Option ID = 20839]
3. 90 [Option ID = 20840]
4. 174 [Option ID = 20841]

Fill in the blanks.

BA_BA_BAC_ACB_CBAC
[Question ID = 5211]

1. AACB [Option ID = 20842]
2. BBCA [Option ID = 20843]
3. CCBA [Option ID = 20844]
4. CBAC [Option ID = 20845]

If "TOUR" is written as "1234", "CLEAR" is written as "56784" and "SPARE" is written as "90847", then the code for
"CARE" is:‐
[Question ID = 5212]

1. 1247 [Option ID = 20846]
2. 4847 [Option ID = 20847]
3. 5247 [Option ID = 20848]
4. 5847 [Option ID = 20849]

This Programme launched by Modi Government, provides Life Insurance of Rs. 2 lakh for people b/w 18 to 50 years
(@Premium of Rs. 330 per annum):‐

[Question ID = 5213]
1. Mudra Bank Yojana

[Option ID = 20850]
2. Pradhan Mantri Jeevan Jyoti Bima Yojana

[Option ID = 20851]
3. Pradhan Mantri Jan Dhan Yojana

[Option ID = 20852]
4. Pradhan Mantri Suraksha Bima Yojna

[Option ID = 20853]

Hampi was the capital of __________.
[Question ID = 5214]

1. Vijayanagar Kingdom [Option ID = 20854]
2. Mughals [Option ID = 20855]
3. Rajputs [Option ID = 20856]
4. Bahmani Kingdom [Option ID = 20857]

Who ruled over Delhi sultanate during the year (1236‐1240)?
[Question ID = 5215]

1. Qutb‐ud‐din Aibak [Option ID = 20858]
2. Balban [Option ID = 20859]
3. Raziya Sultan [Option ID = 20860]
4. Iltutmish [Option ID = 20861]

The method of embedding semi‐precious stones such as lapis lazuli, onyx, jasper and topaz and cornelian is called
______.
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[Question ID = 5216]
1. Arculate

[Option ID = 20862]
2. Trabeate

[Option ID = 20863]
3. Pietra Dura

[Option ID = 20864]
4. Calligraphy

[Option ID = 20865]

Who invented musical instrument Sitar?
[Question ID = 5217]

1. Kabir [Option ID = 20866]
2. Amir Khusrau [Option ID = 20867]
3. Namdev [Option ID = 20868]
4. Eknath [Option ID = 20869]

Who was the head of both civil and military affairs in Maratha administration?
[Question ID = 5218]

1. Dabir [Option ID = 20870]
2. Peshwa [Option ID = 20871]
3. Surnis [Option ID = 20872]
4. Pandit Rao [Option ID = 20873]

Which elements make the core of the Earth?
[Question ID = 5219]

1. Silicon and Alumina [Option ID = 20874]
2. Manesium and Slica [Option ID = 20875]
3. Nickel and Iron [Option ID = 20876]
4. Copper and Iron [Option ID = 20877]

Which out of these is a Plutonic Rock?
[Question ID = 5220]

1. Gypsum [Option ID = 20878]
2. Gneiss [Option ID = 20879]
3. Basalt [Option ID = 20880]
4. Granite [Option ID = 20881]

The term “Tee” is used commonly in which among the following sports?
[Question ID = 5221]

1. Golf [Option ID = 20882]
2. Hockey [Option ID = 20883]
3. Polo [Option ID = 20884]
4. Table Tennis [Option ID = 20885]

Which atmospheric layer contains Ions and helps in wireless communication?
[Question ID = 5222]

1. Mesosphere [Option ID = 20886]
2. Thermosphere [Option ID = 20887]
3. Troposphere [Option ID = 20888]
4. Stratosphere [Option ID = 20889]

The clouds that occur at the highest level are:‐
[Question ID = 5223]

1. Cumulus [Option ID = 20890]
2. Stratus [Option ID = 20891]
3. Cirrus [Option ID = 20892]
4. Nimbus [Option ID = 20893]

Which of the following is not found in Oceans?

[Question ID = 5224]
1. Calcium Sulphate

[Option ID = 20894]
2. Magnesium Chloride

[Option ID = 20895]
3. Sodium Chloride

[Option ID = 20896]
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4. Ferrous Oxide

[Option ID = 20897]

The Literal meaning of the word 'Tsunami' is:‐
[Question ID = 5225]

1. Big Wave [Option ID = 20898]
2. Harbour Wave [Option ID = 20899]
3. Tidal Wave [Option ID = 20900]
4. Cyclonic Wave [Option ID = 20901]

Nandakumar Vs State of Kerela case is related to:‐

[Question ID = 5226]
1. Right to Marriage

[Option ID = 20902]
2. Right to Convert

[Option ID = 20903]
3. Consenting Adults can live together

[Option ID = 20904]
4. Right to Privacy

[Option ID = 20905]

Who among the following cricketers was the first to score a century for the Indian Test cricket team in his Debut Test
match?
[Question ID = 5227]

1. Sunil Gawaskar [Option ID = 20906]
2. Kapil Dev [Option ID = 20907]
3. Lala Amarnath [Option ID = 20908]
4. Nawab Pataudi [Option ID = 20909]

Which among the following key is used for checking grammar and spelling? 
[Question ID = 5228]

1. F3 [Option ID = 20910]
2. F5 [Option ID = 20911]
3. F7 [Option ID = 20912]
4. F9 [Option ID = 20913]

Which of the following feature is not available in MS Word?
[Question ID = 5229]

1. Mail Merge [Option ID = 20914]
2. Tables [Option ID = 20915]
3. PHP Coding [Option ID = 20916]
4. WYSIWYG editing [Option ID = 20917]

Which of these companies launched Internet Explorer?
[Question ID = 5230]

1. Google [Option ID = 20918]
2. Microsoft [Option ID = 20919]
3. Netscape [Option ID = 20920]
4. Apple [Option ID = 20921]

BSNL, Reliance, Shaw cable, AOL, Tata Indicom all can be kept in which one of the following groups?
[Question ID = 5231]

1. ISDN [Option ID = 20922]
2. IRC [Option ID = 20923]
3. ISP [Option ID = 20924]
4. ICONS [Option ID = 20925]

The address given to each computer on the Internet known as:‐
[Question ID = 5232]

1. Hardware Number [Option ID = 20926]
2. Device Address [Option ID = 20927]
3. IP Address [Option ID = 20928]
4. Net Address [Option ID = 20929]

What is the full form of W3C?
[Question ID = 5233]

1. World Wide Web Company [Option ID = 20930]
2. World Wide Web Consortium [Option ID = 20931]
3. World Wide Web Center [Option ID = 20932]
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4. World Wide Web Command [Option ID = 20933]

What are transitions in MS Power Point?

[Question ID = 5234]
1. Password Protection on the slides

[Option ID = 20934]
2. The name given to slides

[Option ID = 20935]
3. Special Effects added to the slides

[Option ID = 20936]
4. None of these

[Option ID = 20937]

Which of these files can be inserted in MS Power Point?

[Question ID = 5235]
1. .Gif

[Option ID = 20938]
2. .jpeg

[Option ID = 20939]
3. .mp4

[Option ID = 20940]
4. All of these

[Option ID = 20941]

What is motion path in MS Power Point?

[Question ID = 5236]
1. An Animation Entrance Effect

[Option ID = 20942]
2. A tool to narrate the stoty

[Option ID = 20943]
3. Ordering of various slides

[Option ID = 20944]
4. None of these

[Option ID = 20945]

Which of these keys is used to view the slideshow in MS PowerPoint?
[Question ID = 5237]

1. F11 [Option ID = 20946]
2. F6 [Option ID = 20947]
3. F8 [Option ID = 20948]
4. F5 [Option ID = 20949]

Which of these keys will end the slideshow?
[Question ID = 5238]

1. End Key [Option ID = 20950]
2. F12 Key [Option ID = 20951]
3. Shift Key [Option ID = 20952]
4. Esc Key [Option ID = 20953]

What is the email attachment size limit in Gmail?
[Question ID = 5239]

1. 10 MB [Option ID = 20954]
2. 15 MB [Option ID = 20955]
3. 25 MB [Option ID = 20956]
4. 40 MB [Option ID = 20957]

Which of these folders in Gmail contains the emails which are composed but not sent? 
[Question ID = 5240]

1. Inbox [Option ID = 20958]
2. Sent [Option ID = 20959]
3. Drafts [Option ID = 20960]
4. Chats [Option ID = 20961]
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What do we call the unsolicited or undesired e‐mails?
[Question ID = 5241]

1. Memes [Option ID = 20962]
2. SPAM [Option ID = 20963]
3. Drafts [Option ID = 20964]
4. Chats [Option ID = 20965]

What is the name given to Android 7.0 version?
[Question ID = 5242]

1. Naugat [Option ID = 20966]
2. Icecream Sandwich [Option ID = 20967]
3. Honeycomb [Option ID = 20968]
4. Jellybean [Option ID = 20969]

Which of these operating system is used in Apple iPhone 6?
[Question ID = 5243]

1. Windows [Option ID = 20970]
2. Symbian [Option ID = 20971]
3. Android [Option ID = 20972]
4. iOS [Option ID = 20973]

Protecting the data from unauthorized access is called:‐

[Question ID = 5244]
1. Data Encryption

[Option ID = 20974]
2. Data Validity

[Option ID = 20975]
3. Data Security

[Option ID = 20976]
4. None of these

[Option ID = 20977]

Which of the following extension is not used to save the image file? 
[Question ID = 5245]

1. .mpg [Option ID = 20978]
2. .gif [Option ID = 20979]
3. .jpg [Option ID = 20980]
4. .bmp [Option ID = 20981]

A community of blogs is called:‐

[Question ID = 5246]
1. Blogosphere

[Option ID = 20982]
2. Twitter

[Option ID = 20983]
3. Photoblog

[Option ID = 20984]
4. None of these

[Option ID = 20985]

Addressing a cell as $A$4 is called:‐

[Question ID = 5247]
1. Absolute Addressing

[Option ID = 20986]
2. Relative Addressing

[Option ID = 20987]
3. Mixed Addressing

[Option ID = 20988]
4. None of these

[Option ID = 20989]

Which of the following is a pre‐requisite to learning a language?
[Question ID = 5248]
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1. Motivation [Option ID = 20990]
2. Imitation [Option ID = 20991]
3. Habit Formation [Option ID = 20992]
4. Oral Approach [Option ID = 20993]

Which of the following is not a domain of Bloom's Taxonomy?
[Question ID = 5249]

1. Cognitive [Option ID = 20994]
2. Objective [Option ID = 20995]
3. Affective [Option ID = 20996]
4. Psychomotor [Option ID = 20997]

"Compute the area of a circle of radius 2 cm":‐

In which level of the cognitive domain would you place this question?

[Question ID = 5250]
1. Remembering

[Option ID = 20998]
2. Understanding

[Option ID = 20999]
3. Applying

[Option ID = 21000]
4. Analyzing

[Option ID = 21001]

The Psychologist who defined moral development is:‐
[Question ID = 5251]

1. McDougall [Option ID = 21002]
2. Pavlov [Option ID = 21003]
3. Thorndike [Option ID = 21004]
4. Piaget [Option ID = 21005]

Identify the figure who is behind the concept of Language Acquisition Device or LAD?
[Question ID = 5252]

1. Noam Chomsky [Option ID = 21006]
2. Lev Vygotsky [Option ID = 21007]
3. Jean Piaget [Option ID = 21008]
4. Skinner [Option ID = 21009]

RTE, Act‐ 2009 is based on which article of the Constitution of India?
[Question ID = 5253]

1. Article 22 [Option ID = 21010]
2. Article 44 [Option ID = 21011]
3. Article 21A [Option ID = 21012]
4. Article 86 [Option ID = 21013]

Gender' is a/an:‐
[Question ID = 5254]

1. Biological entity [Option ID = 21014]
2. Psysiological Construct [Option ID = 21015]
3. Innate Quality [Option ID = 21016]
4. Social Construct [Option ID = 21017]

Children with individual differences should be taught in a school having teachers:‐
[Question ID = 5255]

1. Trained to make homogeneous learners [Option ID = 21018]
2. To teach in different sections, classrooms based on their individual differences [Option ID = 21019]
3. Trained to use different pedagogy to meet their diverse learning needs [Option ID = 21020]
4. Trained to teach children with specific differences [Option ID = 21021]

How can a teacher encourage her students to be intrinsically motivated towards learning for the sake of learning?
[Question ID = 5256]

1. By inducing anxiety and fear [Option ID = 21022]
2. By giving competitive tests [Option ID = 21023]
3. By supporting them in setting individual goals and their mastery [Option ID = 21024]
4. By offering tangible rewards such as toffees [Option ID = 21025]

Play has a significant role in development of young children for the following reasons, EXCEPT:‐
[Question ID = 5257]

1. They gain mastery over their body [Option ID = 21026]
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2. It stimulates their senses [Option ID = 21027]
3. It is just a pleasant way to spend time [Option ID = 21028]
4. They acquire new skills and learn when to use them [Option ID = 21029]

Which of the following options describes progressive education?
[Question ID = 5258]

1. Learning by doing, project method, co‐operative learning [Option ID = 21030]
2. Personalized learning, ability grouping, labelling students [Option ID = 21031]
3. Thematic units, regular unit tests, ranking [Option ID = 21032]
4. Project method, ability grouping, ranking [Option ID = 21033]

Provisions of mid‐day meals in schools have:‐

[Question ID = 5259]
1. Enhanced school atendance

[Option ID = 21034]
2. Reduced dropouts

[Option ID = 21035]
3. Enhanced cooperative behaviour among children of different castes and class background

[Option ID = 21036]
4. All of these

[Option ID = 21037]

Ranvir has learned type‐writing. When she has reached high school, she has learned computer where she could operate
computer keyboard very easily. This can be attributed to:‐
[Question ID = 5260]

1. Practice on keyboard [Option ID = 21038]
2. Transfer of learning [Option ID = 21039]
3. Interest in using computer [Option ID = 21040]
4. Simplicity of Keyboard [Option ID = 21041]

Essential component of learning is:‐
[Question ID = 5261]

1. Experience [Option ID = 21042]
2. Maturation [Option ID = 21043]
3. Teaching [Option ID = 21044]
4. Objectives [Option ID = 21045]

Which of the following motives are considered as primary motives?
[Question ID = 5262]

1. Psychological motives [Option ID = 21046]
2. Social motives [Option ID = 21047]
3. Physiological motives [Option ID = 21048]
4. Educational motives [Option ID = 21049]

There are four different kinds of reading. They are:‐

[Question ID = 5263]
1. Searching, discovering, scanning, extensive

[Option ID = 21050]
2. Pleasure, informative, detailing, skimming

[Option ID = 21051]
3. Skimming, scanning, discovering, searching

[Option ID = 21052]
4. Skimming, scanning, extensive, intensive

[Option ID = 21053]

TBLT in second language teaching is:‐
[Question ID = 5264]

1. Tool Based Language Teaching [Option ID = 21054]
2. Task Book Language Teaching [Option ID = 21055]
3. Task Based Language Teaching [Option ID = 21056]
4. Task Based Language Training [Option ID = 21057]

NCF 2005 has been translated into ________ languages.
[Question ID = 5265]

1. 10 [Option ID = 21058]
2. 12 [Option ID = 21059]
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3. 18 [Option ID = 21060]
4. 22 [Option ID = 21061]

Phonological awareness refers to:‐
[Question ID = 5266]

1. Know, understand and write [Option ID = 21062]
2. Master the rules of grmmar [Option ID = 21063]
3. Reflect and manipulate the sound structur [Option ID = 21064]
4. Speak fluently and accurately [Option ID = 21065]

You can gain attention of your class through:‐ 
[Question ID = 5267]

1. Speaking loudly [Option ID = 21066]
2. Writing on Blackboard [Option ID = 21067]
3. Stimulus variation [Option ID = 21068]
4. Drawing diagrams [Option ID = 21069]




